\—‘ |

_IE

QD533922EQ000055335
((EZ3I(E=R )
FJENBHR : 20220506
MRANGE—RS 202200000070473994 EHmRE QD533922E000055335 =Bt ZiEEs F(K) MwS T5339W000024
ZFEBRMAAB 440354K001 %E‘%ﬁﬁ%{gﬁﬁﬁ 91440300574794882Y FEBRAATR %ﬂllﬁ?d‘lﬂﬁ%;ﬁﬁmﬁ TN Eaf4meg 440354K001
%ngwﬁ?i%%ﬁﬁﬁ 91448300574794882Y DT & EFR ’%kﬂll?ﬁtF’J‘IBT%”'“ﬁBEA ERREA{4RAD 440354K001 ?_;?Eﬁ{ﬁ?i%%ﬁﬁﬁ 91440300574794882Y
EE*EEEZ%W %kﬂ”ﬁi?%%.h'%umﬁﬂﬁ/\ i“)\%{ﬁ%ﬁg 440354K001 %Aﬁ{ﬁ?i%{%ﬁﬁ{ﬁ 91440300574794882Y i)\%ﬁi%ﬁﬂ %kﬂllfﬁ?il%.l}]—&mulbﬁﬁﬁ/\
SIN=]: ] 20220504 BERERIREER 20220504 p=-=beidunm WPV EE U S I ORES 230
I ERS 1 HEXE BHEX FEEX B IEHRE (X)) FE
BHE. iR EHE BEAN EHEHHX EaA Hyish PIRERRS
e KRS JEiRX e~ i) i Skt
XEERRE QD5321221000043762 KEEF () ARZES | H532118A0003
BERFS 2100060048961 &* MIFLL SR X R s PR EB3L61A
=k

i | R | eae | won | e W | e RIS | IR | wew | 2 | g | B2 | g | amm

= amRE | e w ala [GISE= HisEs (X | NEGE | AH e | =R | HE g i i

=] = =] =] B i 2 2 =HE | iR | 5 =]
1 1 3381 2064 3231191 ARE %?%F%:Eﬁﬁ FE FiE ES 54.307 | 393.414 | F58 | 21365.15 393.414 | 55 )




=]
)| | | Lenovo
h#/901054%
GIGIF.%iFaHH
2 2 3709 3275 3231191 ARE Egﬁ-ﬁ%& FE FiE ES 150 0.249 F5E | 37.35 0.249 F5= 2R
/507
ole|4Hl|E
4821100 — EDis) —
3 3 7107 | 6716 000 EENRIRIRE l¥é9H;70MM FE FE ESTW 9 5 F5 |45 5 F= 25
/55'3”@3&
IRKERER
wXnsr—Rs BRFS BRRB A ER HIERES ERIR AT ERiREE iR RS R ERRH FrE(EX) BLENE (X)
fERINTERrHE RS — RN SRR/ R RITE N S mERAE
HRF | 8FF | AR | GRE | RS | SR | FEEG | REENE | ™ | BiRER | BIRE | RRTE | BiRE | EEE | BEIHE | 55 | ZEST5E | £ | F | RS | BER
g g 5 i) R 5 X) (HX) H fr 2 By i B STy HE =Ty BE|E = 5
VR SCReRMA SRR
AR | R | FFEK | RiRTE | Bk E . R8P | AERESh | RIS | SR | DSk
E | S ) S | gm | PR | HESM | TR | g | RSES £ BRE | B | B s
BE | fF | BXE8R
s =] Fs
Bm | W | RENE | XETE | EE | REFESE | £0E | iM% | F | NRRFIEER | R | E5/FaN | RNy | SR | XSShneEE
315 | S (BX) =2Ty] HE p=—1:liv 88 A | E BmS 2™ R i B BRE
FIRBEE- - - HAESRER {REIERRT - - - AERER
Fs HAERRS Fs EEERmRS

2




